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Note for Examinee:   
i) This is an objective type question paper.  

ii) This question paper consists of 15 questions. You have to attempt only 10 questions. Each 

question carries 2½ marks.  

iii) Each question has four alternatives, only one of which is correct. Mark the correct 

alternative on the question paper itself by putting the tick mark √ in the box given against it.  

ON COMPLETION, IT IS COMPULSORY FOR YOU TO SUBMIT THIS QUESTION PAPER TO 

YOUR INVIGILATOR. 

1.  The glassware used for volumetric experiment is: 

i) Burettes  

ii) Test tube 

iii) Condenser 

iv) Beaker 

2.  In the laboratory, the working benches are not equipped with: 

i)  Burners  

ii)  Washbasins along  

iii)  Water  

iv)  Distillation plant

3.  To bore a hole in a cork we use:  

i) Glass rod  

ii) Knife 

iii) Borer  

iv) Acid 

4.    Which of the following balances cannot be to measure accurate amount of substance?             

i) Electronic balance 

ii) Double pan balance  

iii) Standard laboratory balance 

iv) Analytical balance 
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5.   There are ….. types of standard solution   

i) One 

ii) Two      

iii) Three 

iv) Four 

6.   Volumetric flask is used for making:   

i) Standard Solution   

ii) Normal Solution 

iii) Buffer Solution 

iv) None of above 

7.   Hydrogen sulphide is prepared by reaction of iron sulphide with:  

i) HCl 

ii) H2SO4  

iii) HNO3 

iv) H2S  

8.  Which of the following is not required for distillation of water?   

i) Condensor 

ii) Thermometer 

iii) Heating mental 

iv) Volumetric flask

9.  The pH is defined as:  

i)  +log [H+] 

ii)  -log [H+]  

iii)  -log [H
-
] 

iv) +log [H
-
] 

10.   Crystallization of benzoic acid is carried out by dissolving it in:  

i) Cold water 

ii) Hot water  

iii) Alcohol 

iv) Benzene

11.   Plant pigments are soluble in:  

i) Organic solvent  

ii) Water      

iii) NaOH 

iv) H2S Gas 

12.  Chemical formula of potassium sulphate is:      

i) K2SO4          

ii) Na2SO4 

iii) NaSO4 

iv) K2SO2  

13.  Known volume of solvent cannot be transferred by:    

i) burette   

ii) pipette  

iii) graduated  pipette  

iv) test tube           

14.  Kipp’s apparatus is used to prepare:  

i) O2  gas   

ii) N2  gas 

iii) H2S  gas       

iv) CO2  gas           

Q15.  Leaves of plants are green due to: 

I) Pigment chlorophyl  

II) Yellow Pigment 

III) Xanthophylls 

IV) Reduction of chlorophl
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CPLT 

CLTL-103: jlk;u foKku esa vk/kkjHkwr ç;ksx 

Examination 2021 

le;: ½ ?k.Vk         vf/kdre vad: 25 

Ñi;k fuEufyf[kr fooj.k nhft,% 

vuqØekad la[;k vadksa esa  

         

vuqØekad la[;k 'kCnksa esa  

         

ijh{kk dsUnz dksM 

      

 

fnu vkSj fnuk¡d……………………………….. 

 

ek/;e (vaxszth/fgUnh)………………………… 

ijh{kkFkhZ dk uke……………………………….. 

ijh{kkFkhZ ds gLRkk{kj…………………………… 

fujh{kd ds gLrk{kj……………………………. 

dsoy ewY;kadudrkZ HkjsaA% 

çkIr vad…………………………………….. 

ewY;kadudrkZ ds gLrk{kj …………………. 

ewY;kadudrkZ dk uke……………………….. 

ewY;kadudrkZ dksM:……….…………………. 

 

  

 

…………………………………………………… 

ijh{kk v/kh{kd dh eksgj dsUnz dksM ds lkFk  

ijh{kkFkhZ Ñi;k uksV djsaA :     

i) ;g ,d oLrqfu’B izdkj dk iz”u i= gSA  

ii) bl iz”u i= esa 15 iz”u gSaA vkidks bu esa ls dsoy 10 iz”uksa ds mÙkj nsus gSaA izR;sd iz”u ds 2½ vad 
gSaA  

iii) izR;sd iz”u esa pkj fodYi fn, x, gSa ftuesa ls dsoy ,d fodYi lgh gSA lgh fodYi pqudj mlds 
lkeus ckWDl esa √ fpg~u yxkb,A  

iz”uksa ds mÙkj nsus Ik”pkr~] iz”ui= dks vius fujh{kd dks tek djok vfuok;Z gSA  

1.  dkap ds cus midj.k dk fuEufyf[kr ds fy, bLrseky fd;k tkrk gS% 

i) C;wjsV  

ii) Ikj[kuyh 

iii) Lak?kfu= 

iv) chdj 

2.  Ikz;ksx”kkyk esa] dk;Zjr csapsa fuEufyf[kr ls lqlfTtr ugha gksrh gSa% 

i) cuZj  

ii) okW”kcsflu  

iii) ty dk uy 

iv) vklou la;a=   

3.  ,d dkWdZ esa Nsn djus ds fy, ge fuEufyf[kr dk mi;ksx djrs gSa:  

i) dkap dh NM+  

ii) pkdw 

iii) cksjj  

iv) vEy 
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4.    fuEufyf[kr rqykvksa esa ls dkSu lh lgh&lgh ek=k esa inkFkZ dk eki ugha djrh gSa\            

i) bysDVªkWfud rqyk 

ii) Mcy iSu rqyk 

iii) Ekkud iz;ksx”kkyk rqyk 

iv) fo”ys’k.kkRed rqyk 

5.   ekud foy;u ds fdrus  izdkj gksrs gSa\ 

i) ,d 

ii) nks      

iii) rhu 

iv) pkj 

6.   vk;ruh ¶ykLd dk mi;ksx fuEufyf[kr dks cukus ds fy, fd;k tkrk gS% 

i) ekud foy;u 

ii) Lkk/kkj.k foy;u   

iii) cQj foy;u 

iv) buesa ls dksbZ ugha 

7.   gkbMªkstu lYQkbM dks vk;ju lYQkbM ds lkFk fuEufyf[kr dh vfHkfØ;k }kjk rS;kj fd;k 
 tkrk gS% 

i) HCl 

ii) H2SO4  

iii) HNO3 

iv) H2S  

8.  fuEufyf[kr esa ls dkSu lk ty ds vklou ds fy, vko”;d ugha gS\   

i) daMsUlj 

ii) FkekZehVj 

iii) rki ekufld 

iv) vk;ruh ¶ykLd  

9.  pH dks fuEufyf[kr :i ls ifjHkkf’kr fd;k tkrk gS% 

i)  +log [H+] 

ii)  -log [H+]  

iii)  -log [H
-
] 

iv) +log [H
-
] 

10.   csatksbd vEy dk fØLVyhdj.k fuEufyf[kr esa ?kksydj fd;k tkrk gS%  

i) BaMk ty 

ii) xeZ ty  

iii) ,sYdksgkWy 

iv) csathu 

11.   ikni o.kZd fuEufyf[kr esa foys; gksrs gSa% 

i) dkcZfud foyk;d  

ii) ty     

iii) NaOH 

iv) H2S xSl 

12.  iksVSf”k;e lYQsV dk jklk;fud lw= gS%      

i) K2SO4          

ii) Na2SO4 

iii) NaSO4 

iv) K2SO2  
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13.  foyk;d dh Kkr ek=k dks fuEufyf[kr }kjk LFkkukarfjr ugha fd;k tk ldrk gS%    

i) C;wjsV  

ii) fiisV  

iii) va”kkfdr fiisV  

iv) Ikj[kuyh            

14.  fdi dk midj.k fuEufyf[kr dks cukus ds fy, fd;k tkrk gS% 

i) O2  xSl   

ii) N2  xSl 

iii) H2S  xSl       

iv) CO2  xSl            

Q15.  ikS/kksa dh ifRRk;k¡ fuEufyf[kr ds dkj.k gjh gksrh gSa% 

i) Ok.kZd DyksjksfQy    iii)     tsaFkksfQy 

ii) ihyk o.kZd    iv)     DyksjksfQy dk vip;u  
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